Summary Table

v
Dx range mean LRE mean ARM mean ASE mean LH mean AP

total respondents RG:DI Dx LRE ARM ASE H AP
Dx <400 361.49 44.50 50.00
Dx <500 ] 440.08
Dx > 500 (RG: DI-500) 694.05
500 <Dx < 600 570.49
400 < Dx <600 519.66

Dx > 600 (RG: DI-600) 723.59

total respondents RG:ND Dx
Dx < 400 (RG: ND-400) 308.94
Dx <500
500 < Dx <600
400 < Dx <600
Dx > 600 (RG:DNI)
n
Cohen’s 'd" effect size ND-400 <-> DI-600 e < using root mean square ABC effect size: 1.0606 <- using weighted mean (degrees of freedom)
effect size DNI <> DI-600 0.53 Pooed 0 ABC effect size:  0.5082 pooled SO
Student'’s t-test DNI <-> DI-600 assuming two independent somples, equal population varionces: T-test 'p’ value: 0.03915* <0.05, > 0.01 significant at 5% level
Student’s t-test ND-400 <-> DI-600 > J-test p'value: <0.00001* ridiculously low > astonishingly significant
* source: hup://www. socscistatistics.com/tests/studenttest/
Student’s t-test for Dx:
DNI <-> DI-600 p = 0.05076* just > 0.05 so just not significant at 5% level

Dx effect size DNI <-> DI-600 d= 0.471919559




